




The Story by Hugo De Groote

At the heart of each great paper lies a great 
story, with a strong plot and a new message. A 
strong plot or story line stays focused without 
digressing into side stories, it unfolds quickly 
and logically, and it leads to an interesting 
conclusion. Unlike a project report, which 
necessarily covers all activities as defined in the 
funded proposal, a good paper has only one 
message and one major point, not two or three. 
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The Discussion by Hugo De Groote

This ƛǎ ǘƘŜ ƭŀǎǘ ǎŜŎǘƛƻƴ ƻŦ ǘƘŜ ǇŀǇŜǊΩǎ Ƴŀƛƴ ōƻŘȅ ŀƴŘ ƛǎ ǘȅǇƛŎŀƭƭȅ 
organized into four subsections. 
1.  A synthesis is presented to compare the results to the 
objectives and discuss how they answer the research question. 
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